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25 Eq. 2.1-19
∫∞
−∞ |X(f)|2 dt

∫∞
−∞ |X(f)|2 df

31 line 12 Equation 2.2-23 Equation 2.2-24

32 Eq. 2.2-34 Change xn to sn

32 last line Change x(t) to s(t) and xn to sn

35 Fig. 2.2-1 Change the label of the figure on the right from s2(t) to s4(t)

41 Eq. 2.3-6
b−a

2
b+a

2

52 line 6 where where m = n/2 and

58 line 3 α
∫∞
α xp(x)dx α

∫∞
α p(x)dx

66 Eq. 2.6.29 (z −m)† (z −m)H

69 line 18 38× 10−23 1.38× 10−23

71 Eq. 2.7-35 E[Z(t + τ)Z∗(t)] E [(Z(t + τ)− E [Z(t + τ)])×

(Z∗(t)− E [Z∗(t)])]

71 Eq. 2.7-35 E[Z(t + τ)Z(t)] E [(Z(t + τ)− E [Z(t + τ)])×

(Z(t)− E [Z(t)])]

80 line 7 from bottom |f | < 0 |f | < f0

104 Eq. 3.2-36 Substitute rm with rmg(t) in both lines

110 line 8 from bottom Note that ∆f = 1
2T . . . Note that ∆f = 1

T . . .

117 Eq. 3.3-10 line 1 2πfdq(t −nT)In 4πfdTInq(t −nT)

124 line 8 from bottom with a duration 2Tb , with a duration 2T ,

124 line 7 from bottom again of duration 2Tb . again of duration 2T , where T is

the bit interval.

124 lines 2, 3, 5 from bottom Tb T

125 Fig. 3.3-12 Change all Tb ’s to T ’s.
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125 Fig. 3.3-12 dl(t) dI(t)

125 line 11 from bottom misaligned by Tb . misaligned by T .

131 3rd line after (3.4-1) In is stationary . . . In is a stationary . . .

172 Eq. 4.4-21 r · (sm − sm′) > ηm − ηm′ r · (sm − sm′) = ηm′ − ηm

172 Eq. 4.2.23 ‖s‖2 ‖sm‖2

180 Eq. 4.2-51
∫∞
−∞H(f)S(f)e

j2πft dt
∫∞
−∞H(f)S(f)e

j2πfT df

181 Eq. 4.2-54 Change the first line to y2
s (T) =

(

∫∞
−∞H(f)S(f)e

j2πfT df
)2

188 line 10 from dmin from dmin from

197 line 9 Change to: This signal constellation is known to be approximately

within 0.4 dB of the best eight-point (hexagonal) QAM constellation,

which requires the least average power for a given minimum

distance between signal points. For more details see Section 4.7.

207 line 5 Pe →∞ Pe → 0

220 line 5 σ2 = 2EsN0 σ 2 = 2EsN0

229 line 8 PM = 10−5 Pe = 10−5

229 Figure 4.6-1 PM = 10−5 Pe = 10−5

236 last line Change all n’s to 2’s.

237 line 2 Change all n’s to 2’s.

237 line 6 dmin(D4) =
√

2, and and dmin(D4) =
√

2, B4 = π2

2
, and

237 Equation 4.7-20 ∆(A2) = Bn
V(Λ)

(

dmin(Λ)
2

)n
= ∆(D4) = B4

V(Λ)

(

dmin(Λ)
2

)4
=

239 line 8 from bottom 2ℓ + 2 2ℓ

268 Figure P4.7
1√
2σ
e−|n|

√
2/σ 1√

2σ
e−|n|

√
2/σ

276 line 10 clp(t − iTc) cip(t − iTc)

283 line 6 from bottom Eb Eb

287 line 5 p(y) p(R)

287 line 9 from bottom the boundary of this lattice a boundary for this lattice

287 line 5 from bottom β = 2ℓ + 2 β = 2ℓ

287 last line γs(R) = 1 γs(R) ≈ 1

333 Property 3 (line 12) I(X;Y) ≤ min{|X |, |Y |} I(X;Y) ≤ min{log2 |X |, log2 |Y |}

Continued on next page

2



Continued from previous page

Page Location Incorrect Correct

335 Eq. 6.2-12, second line . . . , Xn = xn−1 . . . , Xn = xn

360 Eq. 6.5-21 2
P
W

P
2W

360 line 16 a discrete-memoryless a binary symmetric

362 Eqn. 6.5-29 1+ p log 2p + (1− p) log 2(1− p) 1+ p log2 p + (1− p) log2(1− p)

363 Eqn. 6.5-31 C = 1
2
g
(

A
σ

)

+ 1
2

(

−A
σ

)

C = 1
2
g
(

A
σ

)

+ 1
2
g
(

−A
σ

)

= g
(

A
σ

)

363 Figure 6.5-5 Substitute the figure with the one shown following the errata table.

366 Figure 6.5-7 Substitute the figure with the one shown following the errata table.

396 Problem 6.69 C ≤ 1
2
(C1 + C2) C < 1

2
(C1 + C2)

373 Eq. 6.8-13 line 2
√

p(1− p)+ (1− p)p
(

√

p(1− p)+
√

(1− p)p
)

374 Eq. 6.8-15, first line
∑

xm∈X n

∑

xm′∈X n Pm→m′
∑

xm∈X n

∑

xm′∈X n p(xm)p(xm′)Pm→m′

376 line 5 Change to: In addition, in these channels the PDF. . .

378 lines 8 and 10 Q
(√

R0γb
)

Q
(√

2R0γb
)

378 line 13 Q
(√

R0γb
)

Q
(√

2Cγb
)

388 Problem 6.38 R(D) = log M + ·· · R(D) = log M −Hb(D)−D log (M − 1) for

0 ≤ D ≤ M−1
M and R(D) = 0 otherwise.

390 line 3 from bottom 1.585. 1.585

394 line 13 from bottom Eb Eb

396 last line ǫ = 0.57 ǫ = 0.5

399 line 4 from bottom

(
∫∞

−∞
pn(y −

√

E )pn(y)dy

)2 (
∫∞

−∞

√

pn(y −
√

E )pn(y)dy

)2

399 last line e−E /N0 e−E /2N0

406 Table 7.1-3, row 7, col. 7 X + 2+X + 1 X2 +X + 1

414 line 9 from bottom H has dimension dmin − 1 H has dimension at least dmin − 1

421 Eq. 7.3-4 Zm−1 Z2m−1

422 line before Ex. 7.3-2 r rows of G2 at a time r rows of G1 at a time

430 line before standard array n× (n− k) 2n−k × 2k

439 line 5 we obtain the result we obtain the result (see Figure 6.5-5)

440 two lines before Eq. 7.7-1 is equal to dmin − 1 is at least equal to dmin − 1

473 line 2 14× 8+ 2 = 114 bits 15× 8+ 1 = 121 bits
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483 line 2 is an Abelian group and has distinct elements and

487 lines 3, 5 from bottom
∑n
i=0

∑t
i=0

490 Prob. 7.60 and 7.61 n N

493 line 15 The Convolutional operation The convolution operation

508 line 1 nonrecursive systematic codes nonrecursive nonsystematic codes

508 line 9 from bottom An (n, k) convolutional code An (n,1) convolutional code

508 Eq. 8.1-37 1 ≤ i ≤ k 1 ≤ i ≤ n

511 Eq. 8.2-5 rjmc rjm

514 Eq. 8.2-16 (1− p)n−k (1− p)d−k

515 Eq. 8.2-17 (1− p)n−k (1− p)d−k

527 Figure 8.5-1 (caption) 1996 1966

538 last two line Change D to Z and N to Y

560 line 2 . . . the each codeword . . . . . . each codeword . . .

562 line 1 where xm where each xm

562 line 10 of a M nodes of M nodes

565 Fig. 8.10-9 Change µx1−g to µx1→g , µxn−g to µxn→g , and µg−xi to µg→xi

593 line 5
∑

j |rj − cj|
∑

j |rj − cj|

593 line 6 Find an upper bound . . . Assuming Ec = 1,

617 Eq. 9.2-66, second line P [... |B = −2(M − 2)d] P [... |B = −2(M − 1)d]

674 3rd line in Problem 9.1 A(f)ejθ(f) A(f)e−jθ(f)

595 Prob. 8.23 Change to r = (0.3,0.2,1,−1.2,1.2,1.7,0.3,−0.6)

832 line 7 Equation 14.1-1 Equation 13.1-1

885 line 9 where Fd where fm

889 in Fig. 13.6-3 (twice) TFd Tfm

896 line 10 from bottom r(t) r1(t)

927 line 6 from bottom If coding affects only . . . If fading affects only . . .

947 Eq. 14.7-13 pb < Pb <

961 line 9 by ?) by Tse and Viswanath (2004)
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964 line 2
√

1−α
√

1−α2

964 Problem 14.13 line 2 PSK FSK

964 line 3 from bottom |xi − x̂i|2 σ 2|xi − x̂i|2

987 Eq. 15.2-21
(π/2)N(N−1)

[ΓN (N)]
2 exp ... (π/2)N(N−1)

N! [ΓN (N)]
2 exp ...

1009 line 18 (see Problem 15.15) (see Problem 15.14)

1022 line 8 MIMO SIMO

1022 line 16 C C̄

1023 line 17 y′ = Σs + η′ y′ = Σs′ + η′

1023 line 19 . . . channel matrix H . . . channel matrix H and s′ = VHs

1025 Problem 15.13 01101001110010 011010011100

1025 Problem 15.15 C G

1091 Eq. B-6 w = Aµxx+Bµyy+Cµ∗xy+C∗µxy
.... w = Aµxx+Bµyy+C∗µ∗xy+Cµxy

....

1091 Eq. B-6 α2k = ·· · + CX̄∗k Ȳk + C∗X̄kȲ∗k α2k = ·· · + C∗X̄∗k Ȳk + CX̄kȲ∗k
1118 Last reference Remove this reference, instead refer to the second reference on page 1119.
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Figure 6.5-5: The capacity plot versus SNR per bit.
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Figure 6.5-7: The capacity of a discrete-time AWGN channel.
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